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If they would say ‘we know’, would they not be believed!?

OVERVIEW

727 maintains that according to X271 there is no need to say 2n21 °192. There is
no wwn of *®7m°KX? *nX since by v 0P the testimony of °191 is required, and
by nmvw o1°p the testimony of "ny7° is sufficient. X237 replies that by w3, the
usage of YT is also acceptable. Therefore there is the wwn of *1217°RY "nXR
"21. There i1s a dispute between "7 and Moo1N as to what the X723 means
when it says that 12v7 is valid by 07 21p.

=2IN Y119 90 1113 9392 D N1 RNP DIYVN RNYL NYTP1D) DININ DIVNPA VY9
»"w+ explains' that since according to X217 the reason for saying 1"21 is to
be 2 pn the va7 »7v, what difference is there whether he says anmi %193, or if

he says I recognize the signatures. If *101 is sufficient, then *3x ¥y77° is also sufficient
for v p.
= 2N YT1Y7 99N 99 1125719 NYHYT 91290 NIV YNIWUN

It seems’ that *"w" wants to say, that according to X327 the 5w will be

believed if he merely states, ‘I recognize’ the signatures. He does not need to say
annl °192 to validate the v); even IR Y71 1S sufficient’.

mooIn presents a possible difficulty with this interpretation:
= NPT 9N 2D N XD D24 )Y NPT YININ 2 VPIT NN

And how is it that the X 1) used the term: ‘if they said we know’, in the

plural form® and the X713 did not use the singular: “if ke said I know’. This
would have been the more correct version since according to "9, even one 7V is
believed to say °ny7. Why are we using the plural?

MDOIN answers;
- NP NIV PHIYUNT 0IUN
Because the X3 is referring to all the 2m»w in general that bring 1v) from

'R oK 1T

* In our text, >"w" states: "I Y71 90K X', Also, >"w quotes the X113 as saying: ™37 2K Y71 0K ¥ X277 0K

3 1t is understood that *ny7> will be valid for van ovp (according to the X3p0n), only if it is accompanied by
2n21°193; otherwise it will be 121 2171m°KY *nK.

* See previous footnote #2, that """ text in the X3 reads "X y7'. However, moo1n may be adding that
>"w1 can be understood even according to our reading of the text; 11v7> »X.
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o°1 N, The x 3 should be understood as follows: All the 2>m>w will be believed if
they say 1v7. It really means that each % individually will be believed if he says *ny7.

mooIn presents another possible challenge to >"w7 w17

- 1119952 NN SNV 919915 S¥a KD D))
And previously when the X723 was offering various X172 171191 Xpd1 between
727 and X279, the &3 there did not want to say that there is a difference

between 1727 and X217 if the 7°%W said NPT and not 1"52. According to 727 it would
not suffice, and according to X271 it will validate the v3. Why indeed did the X713 not offer
this difference if we are to follow s""w" interpretation?’

N1B0IN answers:
- P98 XY 1Y) 7098 M7 9130 RIN VPNIY S¥a NYT

Because the X712 did not want to state all possible differences between 7127
and X217; rather the X ) was interested in stating Only6 these differences,
where according to one master, it would be necessary to say 1"52 and

according to the other master it is not necessary to say anything. Therefore the
X3 could not have said: "177°1°2 82°X "ny7”', for according to both 7127 and X327 something
must be said; either 192 or *nyT°.

yn

mooIn will now refute s™"wA interpretation that a single 5w will be believed (according
to X27) if he says >n¥7 and not 1"92.
= N{?)TIND ©DNNI %92 NAYY VPIT NNYT J23T NN NN YaN

However, this is incredulous that everywhere that 1''23 is mentioned,

according to R21 it does not necessarily mean that the mw must say 1"93, for he
may say nv7 instead. m»doIn finds it too far fetched to say that when the X723 uses the
term °192 it is inexact, and *hy7> will suffice.

mooIn asks an additional question on >"w7a:
- (NV 9T P 72 P9 WD NI HINRP 2291 dNYT 23NN 3 TN ON NI

And furthermore if as >"w1 maintains, that by one 5w also, *ny7° is
sufficient for v37 01p, how can X239 say in the beginning of the second
==, that’ -

> See “Thinking it over’ # 3.

% See (') *9% 71"7 2,2 MO where Moo asks that according to *"wA, the X723 should have said: 17»12 XX
SRw°7 7°7% oX. This seems to contradict what Moo is saying here, v"x).

7 X271 makes his comment concerning the 7wn, which states that if the m°2w said 1913 20531 *192, however he
saw the signing of only one of the 0>7v and not the second 7y, it is 7109. In the event that the m"5w and
another person recognize the other »°nn, nevertheless X217 maintains that it is still 2109.
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= DYD9 Y 1Y NNINN DY PTIYN INNI NIN 1DaN
Even if the m°%% and another person testify to authenticate the signature
of the second witness, nevertheless the v3 is 105 -

mooin asks, how can X217 say such a 17—
= Y5 M1 NNIINN NV 99197 NIV NN NINX 11N NY INT

For if there would only be this 5w who is testifying that he recognizes®
both signatures, then it would have been 2w>; this is the opinion of >"vA -

= D099 %Y NNINNI YO PIYNN THN NIT DIVN RNYM
But now since someone came from the marketplace to help him
authenticate the second signature it should be ®195?! Let us imagine that the

second person never came; according to *"wA it would be “w>. Why should this second
person’s supporting testimony diminish the M7 w> of the v3?!

mooin will offer s>"w7 own apparent answer to this question and refute it:
- YUN 39 7YY 72997 NN 1NMNT 0NN YD DIVNPIT ) DY 9N

Even though >'"w+ (because of the difficulty presented here by m»oin)
explains there’ that this (question that moon is asking) is indeed what 21
‘WK refutes N2, saying —

= 99191 9WH N9I22T K1Y 1IN 7201 19INT 9791 NIIN M)
Can there be such a case that if he himself would have concluded the
entire statement (as in this case, if the %W would have concluded by
himself; ‘I recognize the other signature’) it would be =w> etc., and just
because someone else assists him in confirming the second signature it should be 9109?!
If we are to assume that this is indeed s"WX 27 question on X279, then there is no question
on *"v1. However, nooin does not accept s""WA interpretation, that this question that

mooIn is asking on X127 is identical to s"WX 27 question on X217, as N19OIN continues —
= 793 NIV XA NPNY YDD NYI2D PN DIPN YoN

Notwithstanding what >"wA states that *wX 27 is actually asking nvo1n
question on X217, however it is completely illogical that 839 should have

made such an error, that if the 5w and another 7V testify that they recognize the
second signature it will be 7109; since X217 is of the opinion that (even) if there is no other
7, the testimony of the m5w will suffice if he says *ny7.'° Therefore we must say that
Ny is an insufficient testimony for a single m°%w, and he is not believed unless he says

¥ Obviously, saying 1"92 concerning one 7¥ is no worse than *ny7.

? See MR X7 7"7 2,00 A7 WM v,

' If X271 would be of the opinion that one m>w is 181 if he says Ny, he never would have made that
statement, that 2109 1w 7> N>R ¥ 17°YR IR ®17717°08". This would be illogical.
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*191 (according to both 7127 and x:w).“

mooin offers his position regarding Ny and 1Y7°:
- N29D Y9N 2319 XY SNYPT AN

And it is the opinion of Mo01n that sny7> will not be a sufficient testimony

even according to 839 who says that the reason for saying anmi *191 is for va7 arp.

Nevertheless *ny7 will not validate the v -
= VY9995 290 P77 BIVN ONNIY 2193) 2NI) 291 9NV TY

Unless he says 1231 1''22, because when he has to say °192 then he is
exceedingly meticulous that the vi be executed in the proper manner, as we
previously'? explained; and only then do we believe him.

mooIn explains the xvax:
= 13975 991N 3 YON DIYN 13°29 Y91 9M)

And this is how 291w ' explains the X3 which says, “Is it not so that if
they said ‘we know’”’; the word ‘they’ is referring not to a m>w, but rather to —

- 2P RY 1 DT VY NNPIY KNI DY
Two people at large (not the o>m>w) that would be a%p» this v3; would
they not be believed?! Certainly, if the m>w did not say 1"91 at all and two people

came and were 0pn the v3, then it would be a valid v according to xan -
1359190989 YN MDY INVA 2N 0P 112 211 IINIT

"It will now be necessary to restate s'%27 statement and s"wX 27 subsequent refutation in " P79 quoted
above. NOIN view is that the m°5w alone is not believed to say >ny7°. But 831 adds (to the 7awn there) and
maintains that even if the 75w and another person are testifying that they recognize the second signature it
is still not a valid vx (for the reason given in the X3 there). "wX 27 disagrees with X217, maintaining that
since if the 5w would have said 1712 anmi *192 he would be believed, how can you maintain that the 5w
and another person who say 11v7> are not sufficient to validate the vi. See M50 on °» 7"7 X, 7.

2 See previous X277 71"7 MO0,

" Now that n2oWn concluded that a m>w is not believed if he says *nvT, there seems to be a difficulty in
understanding the X7n3. There is an argument between 7127 and X827 if X297 NMvWw 01pP2 *012°KY? *nNX; where
727 maintains that *9%mR? DX X2, since by v the 7w says *192 and by avp they say 1237. To which 827
responds that by v3 if they say 117 it will also be valid. Therefore it is *217m°R? °nx. If we assume s""@"
opinion that X217 means that every m>w is believed if he says *ny7, then it is very well understood that °nx
*917mR?. However according to npoin that *ny7 is not valid by a m%w, why does X271 maintain that °nx
*0191°K?. How can there be *9171°K? °nX if the 2w must say only *192.

' X217 is of the opinion that 1"92 needs to be said to assure 0vp. Here there is a valid o1p with these two
o*7y. According to 727, however, even though we have a proper v 01p, the v is still 9109, because of the
wwn of WS PRIPA TR,

'> Once people see that a 3 is valid without saying 1"93, as long as there is a1p, they will deduce that the
purpose of 1"52 is v avrp. Therefore they will conclude that n17vw o1p can also be accomplished with only
one 7Y (saying onmi *191), just as one 2w is believed by v o1p (by saying onni °102).
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So since the a»p which is effective by other nuw is effective by v,
therefore there is the concern of 35Y97°R® SnN.

SUMMARY

There is a np17n between >"w1 and Mooin if, according to X2, a LT MPHW
will be believed if he says *ny7 instead of *192.

"1 is of the opinion that (the reason why it is *®177°XR? °nX is because) a m°%w
would be believed if he said °ny7 instead of anmi °192. The XA did not
mention this as one of the differences between 7727 and X279, because the X3
1s considering only those differences whether 192 needs to be said or not.
mooin disagrees for it would mean that it is not necessary to say 1"93;
whereas in the X713, we find the requirement to say only °192, without any
allusion that °ny7° is sufficient. This proves that a 17w saying °ny7> will not
validate the v, even according to X27. The reason for this is that when
saying °ny7 the m°%w will not be as meticulous as when he testifies °192. The
reason why *217°R? °nX is that if two people state 1v7 it will be a valid va.
Thus people will equate onm1 °192 with 37 01p. Subsequently they will
conclude that just as by the v7 0P one MW is 1K1, SO too by MIvW 01’ one
7v will be J2R1.

THINKING IT OVER
1. What are the relative merits and difficulties of npdOIM "wA WD
respectively?

2. Why is v avp different from mnww avp, that by van avp one oW is
sufficient and MvW 0P requires two 2°7Y?

3. mpoIn asks: according to *"wA that "ny7° is valid (according to &27), why

did the X m3 not say: "7ra X2°K ny7'.'° Why cannot we ask a similar

question according to m»oIn; why does the X713 not say 11" X2°X 1y 7?7

16 See footnote # 5.
17 See 7™w o"mn.
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